BSNL JTO Model Test Paper – III
(SOLVED)

PART – 4
The detection of an AM waveform in an Envelope –
a.)One side band and full amplitude carrier are needed

b.) Both side bands and full amplitude carrier are needed

c). Only two side bands are needed

d). Upper side band and part of carriers are needed

Satellite used for intercontinental communication is known as –
a.) Comsat

b). Dom sat

c.) Mari sat

d). Intelsat

Mark out non submarine cable –
a. )TAT – 7

b.) INTELSAT V

c.) ATLANTIS

d. )CANTAT 2

The capacity of an analog communication channel with 4kHz bandwidth and 15 dB SNR is approximately-
a). 20,000 bps

b). 16,000 bps

c.) 10,000 bps

d.) 8,000 bps

The blind speed of an MTl radar can be avoided by changing the-
a.) Carrier frequency

b.) Pulse repetition frequency

c. )Antenna rotation rate

d.) Transmitted power

The output voltage in a feedback series regulator circuit is regulated by controlling the-
a.) Magnitude of the input voltage

b.) Gain of the feedback transistor

c.) Reference voltage

d.) Voltage drop across the series pass transistor

Indicate the signal not transmitted in colour TV-
a.) Y

b.) Q

c.) R

d.) I

As frequency of singal increases-
a.) Directivity increases & beam width increases

b.) Directivity & beam width decreases

c.) Directivity increases & beam width decreases

d.) Directivity decreases & beam width increases

The number of hardware interupts (which require an external signal to interrupt) present in on 8085 mP are

a). 1

b). 4

c.) 5

d.) 13

Highest priority interupt is-

a. )INTR

b. )RST 7.5

c. )RST 6.5

d. )TRAP

One instruction cycle means-

a. )Time require to execute set of instructions

b. )Time require to execute one instruction

c.) Time require to complete one operation of accessing memory, or I/o

d.) None of above

If the clock freq. is 5 mH3 how much time is required to execute on instruction of 18 T-states-

a. )3.6 msec.

b.) 36 m sec.

c.) 36 m sec.

d.) 36 sec.

In data transfer operation which flog get affected-

a. )zero flog

b. )carry flog

c. )sign flog.

d.) none

CMP instruction comes under group -

a. )Data transfer

b. )Brouching operations

c). Machine control operation

d.) logical operations

The logic operation-

a.) are performed in relation to content of Accemce lotor

b).can be performed derectly with content of the register.

c.)are performed without content of a

d.)none of above.

What happen when PUSH instruction executed -

a.) data retrieved from stock to register

b.) data from register saved on the stock.

c.) 16 bit address of instruction saved on stock.

d.) 16 bit address from stock retrieved

SIM stands for-

a. ) serial interface memory

b.) set interrupt mosk

c. ) set if minus

d.) set internal memory

Maximum clock frequency required to operate 8085-

a. )2 MHz

b.) 3 MHz

c) 6 MHz

d. )9 MHz

ASCII code is-

a). 7 bit

b). 8 bit

c.)16 bit

d.) 32 bit.

In memory mapped I/O address lines are-

a. ) 8

b.) 16

c.) 32

d.) 64

The parity bit adding technique is used for -

a. )Indexing

b. )Coding

c. )Error detection

d. )Controlling

A demultiplexer-
a. )has multiple i/p and single o/p

b.) has single i/p and multiple o/p

c.) has multiple i/p and multiple o/p

d.) has single i/p and single o/p

Subroutines are useful-
a. )to reduce storage requirements

b.) to increase programming speed and reduce storage

c.) most applications are same

d.) but increases expense

